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QUESTION 1

An administrator sees a virtual machine message that reads, “Consolidation is required” in the vSphere Client. 

Which action does ESXi take when the administrator completes snapshot consolidation? (Choose the best answer.) 

A. Collapses all snapshots in the current snapshot tree 

B. Commits redundant delta disks to the base disk 

C. Collapses all snapshots into a single snapshot 

D. Deletes all snapshots without committing to the base disk 

Correct Answer: D 

 

 

QUESTION 2

Which solution can be used to automatically deploy a fully configured VMware software-defined data center (SDDC)?
(Choose the best answer.) 

A. vCenter Server 

B. vRealize Suite 

C. vSphere Lifecycle Manager 

D. VMware Cloud Foundation 

Correct Answer: D 

 

 

QUESTION 3

An IT department is decommissioning a storage array and tasks an administrator with removing a datastore from ESXi
hosts. 

What is a prerequisite for unmounting the datastore? (Choose the best answer.) 

A. The datastore is NOT managed by Storage DRS. 

B. The datastore is NOT being used by vSphere High Availability heartbeating. 

C. The datastore is NOT referenced by a host profile. 

D. The datastore does NOT contain powered-off virtual machines. 

Correct Answer: A 
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Reference: 

https://kb.vmware.com/s/article/2004605 

 

QUESTION 4

A virtual machine with a single 100 GB virtual machine disk file has a single 20 GB snapshot. The virtual machine is
powered off. 

How much additional free space on the datastore is required to delete the snapshot, committing the snapshot delta disk
to the base disk? (Choose the best answer.) 

A. 0 GB 

B. 100 GB 

C. 20 GB 

D. 120 GB 

Correct Answer: A 

 

 

QUESTION 5

An administrator is utilizing Network I/O Control (NIOC) to allocate bandwidth utilization on a physical 10 Gbps adapter. 

What is the maximum amount of bandwidth that can be reserved? (Choose the best answer.) 

A. 2.5 Gbps 

B. 10 Gbps 

C. 5.0 Gbps 

D. 7.5 Gbps 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-
Center/2.4/installation/GUID-9A8FD62AF099-4329-8220-6D5853F9A62D.html (note) 
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